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S A oFA I LDt
H: XEAHGIA
o XI=2el (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
o 300,000
—s=240td 1,238,000
g 619,000
= 619,000
—22406HA 369,000
Fag 186,000
= 183,000
03 AlE 201 Y| 3,000 6,300 A 3,300
OA0tEZHI ALY 2 CHYI 3,000
S (XIetatd, AGHE) SXl22 556,200 331,200 225,000
401 AlEHIZL 2 0HY| 556,200 331,200 225,000
01 Al&H| 555,000 330,000 225,000
OdtE X &2 ALY 300,000
O3 SIASTAILE(YXZ2) &XAY 100,000
OHMI9SEHE 'S 'ToH=ERAIS (61A) 155,000
03 Al 201 Y| 1,200 1,200 0
OdlE A &ClAIYE AIE20Y] 1,200
ol A 19,634 51,013 A 31,379
ol |Xl 22 19,634 51,013 N 31,379
101 Q124 H| 5,610 37,989 N 32,379
04 JI2ZtHIZ22NEES 5,610 37,989 N 32,379
Ootd &g 29 5,610
- J=2 66,800& 2% *30 4,008
- FEG 66,800& *1.5%2H 3L 602
— B&8= 1,000
201 et | 10,124 9,124 1,000
01 AR 22l ] 3,580 3,580 0]
Ot AHEN 2L 60,000 2 120
Odld&A2|E 2 AR EEH| 80,000& «12& 960
Odtd =28HEsE SANEXT HEH
50,000& *50H4 2,500
02 2324 6,544 5,544 1,000
OJlsE, gy X9 MII3
33,000 140 A 123 5,544
OJts2 sX&e2ll 1,000
202 04| 3,900 3,900 0
01 2Ll 3,900 3,900 0
Odotd=sg & #XEA 3,900
OrM & 2H 626,063 1,339,640 ANT13,577
& 15,400
= 610,663
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M ord M4 7E
SRl Ya oIEY nE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o orNY = 521,563 1,136,000 AB14,437
CCTV S HdE 29 521,563 0 521,563
201 Let24d] 140,870 0 140,870
01 At 22/l 7,470 0 7,470
O2HHEH 2l 500,000& = 12& 6,000
O2ddz & 70,0003 »7& *32 1,470
02 2324l 133,400 0 133,400
OCCTV &84 23 90,0003 +953| &4 «12& 102,600
OCCTV &2 23 15,000 60 A~ +12& 10,800
OCCTV SXNE> 849 20,000,000& » 14 20,000
202 Oddl 3,900 0 3,900
01 = LH 4 bl 3,900 0 3,900
OSEg2HEH 2= 3,900
307 glz2+ol & 376,793 0 376,793
05 RIZt2IE = 376,793 0 376,793
OCCTV S22 MAE 2SR 22t E
31,399,368& x12& 376,793
Metotd &2 104,500 203,640 299,140
< 15,400
i 89,100
FolMEor™ CCTV & X1 & 2tel 27,500 109, 640 A 82,140
402 BI2FX=01 M 27,500 70,000 A 42,500
01 2I2E 2 A B (KM ) 27,500 70,000 A 42,500
OsZ0t2 YHAMPS CCTV & XAt 27,500
— A FEX 2,500,000 «5CH 12,500
= PIE=PN 1,500,000& = 10CH 15,000
FO MBI IFHEE 2 SH4 CCTVEX LA 77,000 94,000 A 17,000
< 15,400
i 61,600
405 RHoHE S HI 77,000 94,000 A 17,000
< 15,400
e 61,600
01 AL EFFHSHI 77,000 94,000 A 17,000
OFodaotd =8 & S8 CCTV &
X A 77,000
< 15,400
e 61,600
HEY2HZ Y (CHE TN I) 27,389 27,245 144
Jl2 &3l 27,389 27,245 144
JlE&l 27,389 27,245 144
201 ¢er24] 15,149 15,005 144
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 13,589 13,445 144
otER=EZ 2,280
- =2 15,0003 x4&+12& 720
SPNR= PN 10,000& 138+ 12& 1,560
O=AERX ¢ 22,9003 x62 A %128 1,649
O=AD Xtz 660,000& »12& 7,920
OAMEH 2H=8 ¥ 100,000& =122 1,200
O&F=D Xz 45,0003 123 540
02 =224l 1,560 1,560 0
Od3stR= 130,000& 122 1,560
202 04 Hl 8,640 8,640 0
01 = LH o4 1l 8,640 8,640 0
ORNME2Y WAL 8,640
203 R =&t 3,600 3,600 0
04 FN2ELRZ=TH| 3,600 3,600 0
ORAM2IYRFLI 300,000& x12& 3,600
HRes (&ML 300,000 200,000 100,000
HEAHHK = 300,000 200,000 100,000
=88 300,000 200,000 100,000
702 )13HES 300,000 200,000 100,000
0MNII3HES 300,000 200,000 100,000
OMt2elz =g 300,000




